



<p><b>2</b></p> $\int_0^{\pi/6} \cos 3x dx = \left[ \frac{1}{3} \sin 3x \right]_0^{\pi/6}$ $= \frac{1}{3} \sin \frac{\pi}{2} - 0$ $= 1/3$	<p>M1 B1 A1cao [3]</p>	<p><math>k \sin 3x, k &gt; 0, k \neq 3</math></p> <p><math>k = (\pm)1/3</math></p> <p>0.33 or better</p>	<p>or M1 for <math>u = 3x \Rightarrow \int \frac{1}{3} \cos u du</math> condone <math>90^\circ</math> in limit</p> <p>or M1 for <math>\left[ \frac{1}{3} \sin u \right]</math></p> <p>so: <math>\sin 3x</math>: M1B0, <math>-\sin 3x</math>: M0B0, <math>\pm 3 \sin 3x</math>: M0B0, <math>-1/3 \sin 3x</math>: M0B1</p>
---	------------------------------------	--	--

<p><b>3(i)</b></p> $y = x \cos 2x$ $\Rightarrow \frac{dy}{dx} = -2x \sin 2x + \cos 2x$	<p>M1 B1 A1 [3]</p>	<p>product rule <math>d/dx (\cos 2x) = -2 \sin 2x</math> oe cao</p>
<p><b>(ii)</b></p> $\int x \cos 2x dx = \int x \frac{d}{dx} \left( \frac{1}{2} \sin 2x \right) dx$ $= \frac{1}{2} x \sin 2x - \int \frac{1}{2} \sin 2x dx$ $= \frac{1}{2} x \sin 2x + \frac{1}{4} \cos 2x + c$	<p>M1  A1 A1ft  A1 [4]</p>	<p>parts with <math>u = x, v = \frac{1}{2} \sin 2x</math></p> <p><math>+\frac{1}{4} \cos 2x</math></p> <p>cao – must have <math>+ c</math></p>

<p><b>4(i)</b> Asymptotes when <math>(\sqrt{\phantom{x}})(2x - x^2) = 0</math>  <math>\Rightarrow x(2 - x) = 0</math>  <math>\Rightarrow x = 0</math> or <math>2</math>  so <math>a = 2</math>  Domain is <math>0 &lt; x &lt; 2</math></p>	M1  A1 B1ft [3]	or by verification $x > 0$ and $x < 2$ , not $\leq$
<p><b>(ii)</b> <math>y = (2x - x^2)^{-1/2}</math>  let <math>u = 2x - x^2</math>, <math>y = u^{-1/2}</math>  <math>\Rightarrow \frac{dy}{du} = -\frac{1}{2} u^{-3/2}</math>, <math>\frac{du}{dx} = 2 - 2x</math>  <math>\Rightarrow \frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx} = -\frac{1}{2} (2x - x^2)^{-3/2} \cdot (2 - 2x)</math>  <math>= \frac{x-1}{(2x-x^2)^{3/2}}</math> *</p>	M1 B1 A1 E1	chain rule (or within correct quotient rule) $-\frac{1}{2} u^{-3/2}$ or $-\frac{1}{2} (2x - x^2)^{-3/2}$ or $\frac{1}{2} (2x - x^2)^{-1/2}$ in quotient rule $\times (2 - 2x)$ www – penalise missing brackets here
<p><math>\frac{dy}{dx} = 0</math> when <math>x - 1 = 0</math>  <math>\Rightarrow x = 1</math>,  <math>y = 1/\sqrt{(2 - 1)} = 1</math>  Range is <math>y \geq 1</math></p>	M1 A1 B1  B1ft [8]	extraneous solutions M0
<p><b>(iii)</b> (A) <math>g(-x) = \frac{1}{\sqrt{1 - (-x)^2}} = \frac{1}{\sqrt{1 - x^2}} = g(x)</math></p>	M1 E1	Expression for $g(-x)$ – must have $g(-x) = g(x)$ seen
<p>(B) <math>g(x-1) = \frac{1}{\sqrt{1 - (x-1)^2}}</math>  <math>= \frac{1}{\sqrt{1 - x^2 + 2x - 1}} = \frac{1}{\sqrt{2x - x^2}} = f(x)</math></p>	M1  E1	must expand bracket
<p>(C) <math>f(x)</math> is <math>g(x)</math> translated 1 unit to the right.  But <math>g(x)</math> is symmetrical about Oy  So <math>f(x)</math> is symmetrical about <math>x = 1</math>.</p>	M1 M1 A1	dep both M1s
<p>or <math>f(1-x) = g(-x)</math>, <math>f(1+x) = g(x)</math>   <math>\Rightarrow f(1+x) = f(1-x)</math>  <math>\Rightarrow f(x)</math> is symmetrical about <math>x = 1</math>.</p>	M1   E1 A1 [7]	or $f(1-x) = \frac{1}{\sqrt{2-2x-(1-x)^2}} = \frac{1}{\sqrt{2-2x-1+2x-x^2}} = \frac{1}{\sqrt{1-x^2}}$ $f(1+x) = \frac{1}{\sqrt{2+2x-(1+x)^2}} = \frac{1}{\sqrt{2+2x-1-2x-x^2}} = \frac{1}{\sqrt{1-x^2}}$